ATOM DRILLMASTER MODEL 953 WITH ZENOAH 26cc 2-STROKE MOTOR

GREASE SCREW 74



ATOM MODEL: 953 ENGINE DRILL ZENOAH 26cc

5/07/2022

PART NO: 20953

. Substitute < . Substitute . Substitute <

2 Part No PartNo |Z Description 2 Part No Part No Description 2 Part No PartNo |= Description

1 |21775 MANUAL ALL MODELS 32164177 DR PINION MAIN 63 |64332RN DR THROTTLE MOUNT G26L

2 |40650 SCREW M5x36 33 (64178 DR FORWARD GEAR DOG 64 |64333WP DR CABLE RETAINER

3 |40651 SCREW M6x16 34 (64179 DR REVERSE GEAR DOG 65 (64335 LABEL WARN DRILL HANDLE

4 140652 NUT NYLOC M5 35 (64181 DR MAIN SHAFT 66 [64338 X [LABEL DR MODEL 953

5 |40912 BEAR NEEDLE 20x12mm 37164183 DR SPUR GEAR SHAFT 68|64344SN 64414A DR ASSY SHAFT BEAR 38/10T KIT

6 [40914 BEAR THR 20x35x2 38 |64184 DR BRONZE BEAR SINTERED 69164347 DR CASING SEAL 1

7 (40915 WASHER THRUST 20x35x1 3964185 BEAR 6809-2RS 45x58x7 70 |64348 DR CASING SEAL 2

8 |40922 SEAL SHAFT 20x26x4mm 40 (64187 BEAR 10x26x8 71|64969 DR SPIRIT LEVEL

9 |43163 NUT FLANGE 3/8 UNC 4164188 BEAR NEEDLE 16x22x12 72 (64355 ORING3x110Dx5ID

10(43172 NUT NYLOC 3/8 UNC w/AXLE 42 (64189 DR GEAR BEVEL T15 74 |64383 LABEL DRILLMASTER

1143218 WASHER 3/8 20x1.8x26 4364190 DR GEAR BEVEL T30 75)64384 SCREW M4x50 SOCKET CAP

1243227 GREASE & DISPENSER 4464243 ASSY COLLAR/SCREW/KEY 76 |64385 WASHER 4x9x1

13(43484 WASHER 22.43x5.94 45 (64194 SCREW M4.5x19.5 77)64411 DR SWITCH & WIRE

14 (43790 SCREW M5.5x22 46 |64859WN SET LH+RH ENG DRILL 78 |64414A DR ASSY SHAFT BEAR 38/10T KIT

15(43860 BEARING 32x10x12+4mm 47 [64859WN SET LH+RH ENG DRILL 79163219 LABEL HOT MOTOR/OIL

1644318 DRUM CLUTCH CUP 54mm 48 |64212WN DR MAIN HANDLE LH 80 |63360RN MOUNT ENGINE KZ26

1744439 BOLT BSW HEX 3/8x5 49 [64213WN DR MAIN HANDLE RH 81 |64859WN SET LH+RH ENG DRILL

1862964 BEARING NEEDLE 12x26x2 50 [64216BS DR GRIP FRONT W/RUBBER

1962965 WASHER THRUST 12x26x1.5 51 (64217BS DR GRIP BACK W/RUBBER

20(62969RN PLUG MUFFLER KZ26 52 (64218WP DR NUT RETAINER For 'information on the Zenoah 26K,Z 26cc
engine go to Ref 763 at 'Petrol Engines,

22162993 X |ENG ZENOAH KZ26 53 |64220WP DR THRO HANDLE COV Parts and Drawings'.

23(63275 PIN ROLL 5x30 DR/TL 54 |64221WP DR THR HANDLE CAP

2463277 WASHER 12x22.22x1 55 |64227 DR THROTTLE CABLE 362+87

25(64926 LABEL DR SAFETY 56 (64229 SCREW GRUB M12x1.25x12

26 (63440 PIN ROLL 5x18 57 (64230 KEY ALLEN 6AFx90

2763474 BEARING 32x10x12 58 164231 DR REVERSE SPRING 30x22

28(63953 TAG-MADE IN AUSTRALIA 59 |64232 DR HAN SPACER TUBE

29(64119 HUB SINTERED 11.5mm 60 |64233 DR THRO RET SPRING

30(64130 PIN ROLL 4x24 DR/TL 61 |64234BS DR THRO HAN W/RUBBER

31|64176 DR GEAR WITH DOG 62 |64235 DR BEAR 6001-2RS 12x28x8






